

B. K. BEOHAR (*)

On Absolute Cesàro Summability of Laplace Series. (**)

1. - Let $f(\theta, \varphi)$ be defined for the range $0 \leq \theta \leq \pi$, $0 \leq \varphi \leq 2\pi$ and integrable (L) on the surface of a sphere S . The LAPLACE series associated with this function is

$$(1.1) \quad f(\theta, \varphi) \sim \frac{1}{2\pi} \sum_{n=0}^{\infty} (n + \frac{1}{2}) \iint_S f(\theta', \varphi') P_n(\cos r) \sin \theta' d\theta' d\varphi',$$

where

$$\cos r = \cos \theta \cos \theta' + \sin \theta \sin \theta' \cos(\varphi - \varphi')$$

and $P_n(x)$ is the LEGENDRE polynomial.

A generalised mean value of $f(\theta, \varphi)$ is given by:

$$(1.2) \quad f(r) = \frac{1}{2\pi \sin r} \int_{C_r} f(\theta', \varphi') \sin \theta' d\theta' d\varphi',$$

where the integral is taken along the small circle C_r whose centre is (θ, φ) on the sphere and whose curvilinear radius is r . The series in (1.1) reduces to

$$(1.3) \quad \sum_{n=0}^{\infty} (n + \frac{1}{2}) \int_0^{\pi} f(r) P_n(\cos r) \sin r dr \equiv \sum_{n=0}^{\infty} A_n.$$

(*) Indirizzo: Department of Mathematics, Madhav College, Ujjain, India.

(**) Ricevuto: 5-IV-1966.

We write:

$$F_0(x) = f(x), \quad F_p(x) = \frac{1}{\Gamma(p)} \int_0^x (x-t)^{p-1} f(t) dt,$$

$$f_p(x) = \Gamma(p+1) x^{-p} F_p(x) \quad (p \geq 0),$$

$$F_p(x) = \frac{d}{dx} F_{p+1}(x) \quad (-1 < p < 0).$$

The object of the present paper is to prove the following new theorems on the absolute CESÀRO summability of the series (1.1).

Theorem 1. *If $f(r)$ is of bounded variation in (η, π) , where*

$$\eta = \frac{\mu}{n^\Delta}, \quad \frac{2-\alpha}{1+\alpha} < \Delta < 1, \quad 1 > \alpha > \frac{1}{2},$$

μ is a large constant, and if

$$(1.4) \quad F_1(t) = \int_0^t |f(r)| dr = O(t^{1+2\alpha}) \quad \text{as } t \rightarrow 0,$$

then the series (1.1) is summable $|C, \alpha + \frac{1}{2}|$.

Theorem 2. *If $f(r)$ is of bounded variation in (η, π) , where*

$$\eta = \frac{\mu}{n^\Delta}, \quad 1 > \Delta > \frac{1}{1+\beta-\alpha}, \quad 1 > \beta > \alpha > \frac{1}{2},$$

μ is a large constant, and if

$$(1.5) \quad F_\alpha(t) = O(t^{1+\beta}) \quad \text{as } t \rightarrow 0,$$

then the series (1.1) is summable $|C, \alpha + \frac{1}{2}|$

2. - To prove the theorems we require the following lemmas:

Lemma 1. *If $S_n^k(r)$ denotes the n -th Cesàro mean of order $k > 1$ of the*

sequence $\{(n + \frac{1}{2}) P_n(\cos r)\}$, then for $p \geq 0$ we have

$$(2.1) \quad \frac{d^p}{dr^p} S_n^k(r) = \begin{cases} O(n^{1+p}) & \text{for } 0 \leq r \leq \pi \\ O\left(\frac{n^{p+\frac{1}{2}-k}}{r^{k+\frac{1}{2}}}\right) & \text{for } 0 < r < \pi, \quad [p] + 3/2 \geq k. \end{cases}$$

For the proof see [1] for the case $\lambda = \frac{1}{2}$.

Lemma 2. For $0 < \theta \leq \pi$ we have uniformly

$$(2.2) \quad S_n^k(r) = O(n^{1-k}) + O(1/n^2).$$

For the proof see [1] for the case $\lambda = \frac{1}{2}$.

Lemma 3. We have ([2], p. 308)

$$(2.3) \quad (n + 1) P_n(x) = \frac{d}{dx} P_{n+1}(x) - x \frac{d}{dx} P_n(x).$$

3. - Proof of the Theorem 1. We have, by Lemma 3,

$$\begin{aligned} n A_n &= n(n + \frac{1}{2}) \int_0^\pi f(r) P_n(\cos r) \sin r \, dr = \\ &= n \int_0^\pi f(r) (\sin r) \left\{ \left[\frac{d}{dx} P_{n+1}(x) - x \frac{d}{dx} P_n(x) \right]_{x=\cos r} - \frac{1}{2} P_n(\cos r) \right\} dr \\ &\quad \text{(by Lemma 3)} \\ &= n \int_0^\pi f(r) \left[(\cos r) \frac{d}{dr} P_n(\cos r) - \frac{d}{dr} P_{n+1}(\cos r) - \frac{1}{2} P_n(\cos r) \sin r \right] dr = \\ &= \int_0^\pi f(r) \left[(n + \frac{1}{2}) (\cos r) \frac{d}{dr} P_n(\cos r) - \frac{1}{2} (\cos r) \frac{d}{dr} P_n(\cos r) \right. \\ &\quad \left. - (n + 1 + \frac{1}{2}) \frac{d}{dr} P_{n+1}(\cos r) + \frac{3}{2} \frac{d}{dr} P_{n+1}(\cos r) - \frac{1}{2} (n + \frac{1}{2}) P_n(\cos r) \sin r \right. \\ &\quad \left. + \frac{1}{4} P_n(\cos r) \sin r \right] dr, \end{aligned}$$

thus we have

$$(3.1) \quad \left\{ \begin{aligned} T_n^{\alpha+\frac{1}{2}}(r) &= \int_0^\pi \left[\frac{d}{dr} S_n^{\alpha+\frac{1}{2}}(r) \right] f(r) \cos r \, dr - \frac{1}{2} \int_0^\pi \sigma_n^{\alpha+\frac{1}{2}}(r) f(r) \cos r \, dr \\ &\quad - \int_0^\pi \left[\frac{d}{dr} S_{n+1}^{\alpha+\frac{1}{2}}(r) \right] f(r) \, dr + \frac{3}{2} \int_0^\pi \sigma_{n+1}^{\alpha+\frac{1}{2}}(r) f(r) \, dr \\ &\quad - \frac{1}{2} \int_0^\pi S_n^{\alpha+\frac{1}{2}}(r) f(r) \sin r \, dr + \frac{1}{4} \int_0^\pi l_n^{\alpha+\frac{1}{2}}(r) f(r) \sin r \, dr \\ &= A + B + C + D + E + F, \end{aligned} \right.$$

say, where

$$T_n^k(r), \quad S_n^k(r), \quad \sigma_n^k(r), \quad l_n^k(r),$$

denote the n -th CÉSÀRO mean of the order k of the sequences

$$\{n A_n\}, \quad \left\{ \left(n + \frac{1}{2} \right) P_n(\cos r) \right\}, \quad \left\{ \frac{d}{dr} P_n(\cos r) \right\}, \quad \{P_n(\cos r)\}$$

respectively.

In order to prove the theorem we have to show that

$$(3.2) \quad \sum_{n=0}^{\infty} n^{-1} |T_n^{\alpha+\frac{1}{2}}| < \infty.$$

We shall now denote $\frac{d^p}{dr^p} S_n^{\alpha+\frac{1}{2}}(r)$ by $S_n^{(p)}(r)$. We first consider

$$(3.3) \quad C = \int_0^\pi S_{n+1}^{(1)}(r) f(r) \, dr = \left[\int_0^\eta + \int_\eta^\pi \right] S_{n+1}^{(1)}(r) f(r) \, dr = C_1 + C_2,$$

say. Now

$$C_1 = [S_{n+1}^{(1)}(r) F_1(r)]_0^\eta - \int_0^\eta S_{n+1}^{(2)}(r) F_1(r) \, dr = C_{1.1} - C_{1.2},$$

say, where

$$(3.4) \quad C_{1.1} = O(n^{1-\alpha} \eta^\alpha) = O(n^{\frac{1}{2}-\alpha}).$$

We now have

$$C_{1.2} = \int_0^{\eta} S_{n+1}^{(2)}(r) F_1(r) \, dr = \left[\int_0^{1/n} + \int_{1/n}^{\eta} \right] S_{n+1}^{(2)}(r) F_1(r) \, dr = C_{1.2.1} + C_{1.2.2},$$

say. Now

$$(3.5) \quad C_{1.2.1} = \int_0^{1/n} O(n^2) r^{1+2\alpha} \, dr = O(n^{1-2\alpha}).$$

Also

$$(3.6) \quad C_{1.2.2} = \int_{1/n}^{\eta} O\left(\frac{n^{2-\alpha}}{r^{1+\alpha}} r^{1+2\alpha}\right) \, dr = n^{2-\alpha} (\eta^{1+\alpha} - n^{-1-\alpha}) = O(n^{1-2\alpha}).$$

Finally we have

$$(3.7) \quad \begin{cases} C_2 = \int_{\eta}^{\pi} S_{n+1}^{(1)}(r) f(r) \, dr = \\ = [f(r) S_{n+1}^{\alpha+1/2}(r)]_{\eta}^{\pi} - \int_{\eta}^{\pi} S_{n+1}^{\alpha+1/2}(r) \, df(r) = O(n^{1/2-\alpha}), \end{cases}$$

by Lemma 2. Combining (3.4), (3.5), (3.6) and (3.7) we see that

$$(3.8) \quad C = O(n^{1/2-\alpha}).$$

Clearly the order estimates for A , B , D , E and F are the same as those for C , and in view of (3.8) we see that (3.2) holds.

Thus the Theorem 1 is completely established.

4. - Proof of Theorem 2. Proceeding as in the proof of the Theorem 1, it is sufficient to show that

$$\sum n^{-1} |C| < \infty$$

under the condition of the theorem. We have

$$C = \int_0^{\eta} S_{n+1}^{(1)}(r) f(r) \, dr = [S_{n+1}^{(1)}(r) F_1(r)]_0^{\eta} - \int_0^{\eta} S_{n+1}^{(2)}(r) F_1(r) \, dr = J_1 - J_2,$$

say. It is

$$(4.1) \quad J_1 = [S_{n+1}^{(2)}(r) F_1(r)]_0^\eta = [n^{1-\alpha} \eta^{-1-\alpha} \eta^{2+\beta-\alpha}] = O(n^{\alpha-\beta}).$$

Also

$$\begin{aligned} J_2 &= \int_0^\eta S_{n+1}^{(2)}(r) F_1(r) \, dr = \int_0^\eta S_{n+1}^{(2)}(r) \, dr \frac{1}{\Gamma(1-\alpha)} \int_0^r (r-u)^{-\alpha} F_\alpha(u) \, du \\ &= \frac{1}{\Gamma(1-\alpha)} \int_0^\eta F_\alpha(u) \left[\int_u^\eta (r-u)^{-\alpha} S_{n+1}^{(2)}(r) \, dr \right] \, du \\ &= \int_0^\eta F_\alpha(u) F(\eta, u) \, du = \left[\int_0^{1/n} + \int_{1/n}^\eta \right] F_\alpha(u) F(\eta, u) \, du = J_{2.1} + J_{2.2}, \end{aligned}$$

say. Now

$$\begin{aligned} F(\eta, u) &= \int_u^\eta (r-u)^{-\alpha} S_{n+1}^{(2)}(r) \, dr = \left[\int_u^{2u} + \int_{2u}^\eta \right] (r-u)^{-\alpha} S_{n+1}^{(2)}(r) \, dr \\ &= \int_u^{2u} (r-u)^{-\alpha} O(n^3) \, dr + u^{-\alpha} \int_{2u}^\xi S_{n+1}^{(2)}(r) \, dr \quad (2u \leq \xi \leq \eta) \\ &= O(n^3 u^{1-\alpha}) + O(n^2 u^{-\alpha}). \end{aligned}$$

Again, if $u + (1/n) < \eta$,

$$\begin{aligned} F(\eta, u) &= \left[\int_u^{u+(1/n)} + \int_{u+(1/n)}^\eta \right] (r-u)^{-\alpha} S_{n+1}^{(2)}(r) \, dr = F' + F'', \\ F' &= \int_u^{u+(1/n)} (r-u)^{-\alpha} O\left(\frac{n^{2-\alpha}}{r^{1+\alpha}}\right) \, dr = O(n u^{-1-\alpha}), \\ F'' &= \int_{u+(1/n)}^\eta (r-u)^{-\alpha} S_{n+1}^{(2)}(r) \, dr = O(n u^{-1-\alpha}), \end{aligned}$$

thus

$$F(\eta, u) = O(n u^{-1-\alpha}).$$

Now we have

$$(4.2) \quad J_{2.1} = \int_0^{1/n} O(n^3 u^{1-\alpha}) u^{1+\beta} du + \int_0^{1/n} O(n^2 u^{-\alpha}) u^{1+\beta} du = O(n^{\alpha-\beta}).$$

Also

$$(4.3) \quad J_{2.2} = \int_{1/n}^{\eta} O(n u^{-1-\alpha}) u^{1+\beta} du = [\eta^{1-D(1+\beta-\alpha)} - n^{\alpha-\beta}] = O(n^{\alpha-\beta}),$$

therefore we get

$$(4.4) \quad C = O(n^{\alpha-\beta}),$$

thus

$$(4.5) \quad \sum n^{-1} |C| < \infty.$$

The Theorem 2 is proved.

I am thankful to Dr. G. S. PANDEY for the guidance during the preparation of this paper.

References.

- [1] N. OBRECHKOFF, *Sur la sommation de la série ultrasphérique par la méthode des moyennes arithmétiques*, Rend. Circolo Mat. Palermo 59 (1935), 266-287.
- [2] E. T. WHITTAKER and G. N. WATSON, *A Course of Modern Analysis*, University Press, Cambridge 1950.

* * *

